
LIFT CORPORATION   Sht. 1 of  12  DSG# M-21-06   Rev. -  Date: 06/25/21

© MAXON Lift Corp. 2021

Estas instrucciones están disponibles en español a partir de la página 7.

INSTRUCTIONS, GPC-X REAR SEAL KIT INSTALLATION
KIT P/N 211985-01

FORMED RAIL, GALVANIZED, 
1-1/2” X 1/2” X 108” LG.

P/N 091701-01
QTY. 3

RUBBER SIDE SEAL, 
1-1/2” X 3/4” X 108” LG.

P/N 096069-01
QTY. 3

#10 HEX DRILLING SCREW, 
3/4” LG. 

 P/N 211985-P3
QTY. 21

POLYURETHANE SEALANT, 300 ML
 P/N 211985-P5

QTY. 1



LIFT CORPORATION   Sht. 2 of  12 DSG# M-21-06   Rev. -   Date: 06/25/21

© MAXON Lift Corp. 2021

2. Disconnect negative (-) battery cable from
    vehicle battery.

1.  Unfold and support platform at bed height 
(FIG. 2-1).

NOTE: Refer to GPC-X Operation Manual for detailed operating instructions. 

MEASURING & MARKING HEIGHT 
FIG. 2-1

3. Measure height “H” from top of 1/2” spacer bar
    to top of door frame (FIG. 2-1).

1/2” SPACER 
BAR

“H”

DOOR
 FRAME

NOTE: The 1/2” spacer bar must be installed on the rear sill before installing 
             this rear seal kit.

To avoid personal injury, support platform at bed height before starting this pro-
cedure.

CAUTION!

PLATFORM
UNFOLDED



LIFT CORPORATION   Sht. 3 of  12  DSG# M-21-06   Rev. -  Date: 06/25/21

© MAXON Lift Corp. 2021

4. Measure and cut 1 mounting rail and door seal
    (Kit items) to measured length “H” (FIG. 2-1).

5. Make sure each rubber seal is separated from
    the mounting rail. Place one mounting rail on the 
    RH side of vehicle body (FIG. 3-1). Make sure 
    top end of the rail meets the top of door frame 

(FIGS. 3-1 and 3-1A) and bottom end of the
    rail is resting on 1/2” spacer bar on vehicle body 
    (FIG. 3-1B). Then, line up the mounting rail as 

close as possible to the inside edge of the vertical 
corner post and top of door frame (FIG. 3-1A).

FIG. 3-1B

INSTALLING SIDE MOUNTING RAILS 
FIG. 3-1

TOP OF
 DOOR 
FRAME

6. Using the holes in the mounting rail as a
    template, drill pilot holes in the vehicle body
    for #10 screws (Kit items). Fasten rail to ve-
    hicle body with #10 screws (FIGS. 3-1, 3-1A 
    and 3-1B).  

#10 SELF-DRILLING 
SCREW

MOUNTING
RAIL

1/2” SPACER 
BAR

FIG. 3-1A

MOUNTING
RAIL

#10 SELF-DRILLING 
SCREW

CORNER 
POST

7. Repeat instructions 5 and 6 for the LH side.



LIFT CORPORATION   Sht. 4 of  12 DSG# M-21-06   Rev. -   Date: 06/25/21

© MAXON Lift Corp. 2021

MEASURING & MARKING TOP WIDTH
FIG. 4-1

“D”

8. Measure the distance “D” between the 
    outter edges of the side mounting rails 
    (FIG. 4-1). 

MOUNTING
RAIL

MOUNTING
RAIL

9. Measure and cut 1 mounting rail and door seal
    (Kit items) to measured distance “D” (FIG. 4-1).



LIFT CORPORATION   Sht. 5 of  12  DSG# M-21-06   Rev. -  Date: 06/25/21

© MAXON Lift Corp. 2021

10. Make sure rubber seal is separated from
      the mounting rail. Place the mounting rail as close
      as possible to the bottom edge of vehicle door frame 
      (FIG. 5-1A). Make sure ends of the rail run the full 
      length of the top of the door frame and the side rails 
      (FIGS. 5-1 and 5-1A).

11. Using the holes in the mounting rail as a
      template, drill pilot holes in the door frame for
      #10 screws (Kit items). Fasten rail to top door 

frame with #10 screws (FIGS. 5-1 and 5-1A).  

INSTALLING TOP MOUNTING RAIL 
FIG. 5-1

FIG. 5-1A

TOP MOUNTING 
RAIL

SIDE 
MOUNTING

RAIL

#10 SELF-DRILLING 
SCREW

DOOR FRAME



LIFT CORPORATION   Sht. 6 of  12 DSG# M-21-06   Rev. -   Date: 06/25/21

© MAXON Lift Corp. 2021

INSTALLING SEALS
FIG. 6-1

12.  Apply polyurethane sealant (Kit item) to
      the bottom, inside corners of the side mounting 

rails, and the inside corners of the top rails, for the 
whole length of each rail (FIGS. 6-1, 6-1A  and 
6-1B). Next, insert a rubber seal through the whole 
length of each mounting rail (FIGS. 6-1 and 6-1C). 

SEAL

MOUNTING 
RAIL

FIG. 6-1B

13. Reconnect negative (-) battery cable to battery.

14.  Fold platform to stowed position and verify cor-
rect fi t of rear door seals.

FIG. 6-1A

APPLY SEALANT
(INSIDE BOTTOM

 CORNER, 2 SIDES)MOUNTING
 RAIL

FIG. 6-1C

APPLY SEALANT
(INSIDE CORNER, 

2 SIDES)
MOUNTING

 RAIL



LIFT CORPORATION   Pág. 7 de  12  DSG# M-21-06   Rev. -  Fecha: 06/25/21

© MAXON Lift Corp. 2021

INSTRUCCIONES, KIT DE INSTALACIÓN DEL SELLO 
POSTERIOR GPC-X

KIT N/P 211985-01

RIEL FORMADO, GALVANIZADO
1-1/2” X 1/2” X 108” 

[3.8 X 1.3 X 274.3 cm] DE LARGO
N/P 091701-01

CANT. 3

SELLO LATERAL DE CAUCHO,
1-1/2” X 3/4” X 108” 

[3.8 X 1.9 X 274.3 cm] DE LARGO
N/P 096069-01

CANT. 3

TORNILLO PARA TALADRAR 
HEX. #10, 3/4” DE LARGO

 N/P 211985-P3
CANT. 21

SELLO POLIURETANO, 300 ML
 N/P 211985-P5

CANT. 1



LIFT CORPORATION   Pág. 8 de 12 DSG# M-21-06   Rev. -   Fecha: 06/25/21

© MAXON Lift Corp. 2021

2. Desconecte el cable negativo (-) de la batería 
en la batería del vehículo.

1.  Desdoble y apoye la plataforma a la altura 
de cama (FIG. 8-1).

NOTA: Consulte el Manual de Operación GPC-X para consultar las 
instrucciones detalladas de operación.

MEDIR Y MARCAR ALTURA
FIG. 8-1

3. Mida la altura “H” desde la parte superior de la barra 
separadora de 1/2” [13 mm] a la parte superior del 
bastidor de la puerta (FIG. 8-1).

BARRA SEPARADORA 
1/2” [13 mm]

“H”

BASTIDOR DE 
LA PUERTA

NOTA: La barra separadora de 1/2” [13 mm] debe instalarse en el travesaño 
posterior antes de instalar este kit de sello posterior.

Para evitar heridas personales, apoye la plataforma a la altura de cama antes de 
empezar este proceso.

PRECAUCIÓN!



LIFT CORPORATION   Pág. 9 de  12  DSG# M-21-06   Rev. -  Fecha: 06/25/21

© MAXON Lift Corp. 2021

4. Mida y corte 1 riel de montaje y el sello de la puerta 
(arts. de kit) a la longitud medida de “H” (FIG. 8-1).

5. Verifi que que cada sello de caucho esté separado 
del riel de montaje. Coloque un riel de montaje 
en el lado derecho de la carrocería del vehículo 
(FIG. 9-1). Asegure que el extremo superior del riel 
llegue a la parte superior del bastidor de la puerta 
(FIGS. 9-1 y 9-1A) y la base del riel esté sentado 
en la barra separadora de 1/2” [13 mm] en la carro-
cería del vehículo (FIG. 9-1B). Luego, alinee el riel 
de montaje lo más cerca posible al borde interior 
del poste vertical en la puerta y la parte superior 
del bastidor de la puerta (FIG. 9-1A).

FIG. 9-1B

INSTALAR RIELES DE MONTAJE LATERALES
FIG. 9-1

PARTE SUPERIOR 
DEL BASTIDOR 
DE LA PUERTA

TORNILLO AUTO-
RROSCANTE #10

RIEL DE 
MONTAJE BARRA SEPA-

RADORA 1/2” 
[1.3 cm]

FIG. 9-1A

RIEL DE 
MONTAJE

TORNILLO AUTO-
RROSCANTE #10 POSTE 

EN LA 
PUERTA

7. Repita las instrucciones 5 y 6 para el lado izq.

6. Usando los agujeros en el riel de montaje 
como una plantilla, taladre agujeros pilotos 
en la carrocería del vehículo para los tornillos 
#10 (arts. de kit). Sujete el riel a la carrocería 
del vehículo con tornillos #10 (FIGS. 9-1, 
9-1A y 9-1B).



LIFT CORPORATION   Pág. 10 de 12 DSG# M-21-06   Rev. -   Fecha: 06/25/21

© MAXON Lift Corp. 2021

RIEL DE 
MONTAJE

MEDIR Y MARCAR EL ANCHO SUPERIOR
FIG. 10-1

“D”

RIEL DE 
MONTAJE

9. Mida y corte 1 riel de montaje y sello de la puerta 
(arts. de kit) para medir la distancia “D” (FIG. 10-1).

8. Mida la distancia “D” entre los bordes exteriores 
de los rieles de montaje laterales (FIG. 10-1).



LIFT CORPORATION   Pág. 11 de  12  DSG# M-21-06   Rev. -  Fecha: 06/25/21

© MAXON Lift Corp. 2021

11. Usando los agujeros en el riel de montaje como una 
plantilla, taladre agujeros piloto en el bastidor de la 
puerta para los tornillos #10 (arts. de kit). Ajuste el 
riel a la parte superior del bastidor de la puerta con 
tornillos #10 (FIGS. 11-1 y 11-1A).  

INSTALAR RIEL DE MONTAJE SUPERIOR
FIG. 11-1

FIG. 11-1A

RIEL DE MONTAJE 
SUPERIOR

RIEL DE 
MONTAJE 
LITERAL

TORNILLO AUTO-
ROSCANTE #10

BASTIDOR 
DE LA 

PUERTA

10. Verifi que que el sello de caucho esté separado del 
riel de montaje. Coloque el riel de montaje lo más 
cerca posible a la base del bastidor de la puerta en 
el vehículo (FIG. 11-1A). Verifi que que ambos extre-
mos del riel se instalen en la longitud completa en la 
parte superior del bastidor de la puerta y los rieles 
laterales  (FIG. 11-1 y 11-1A).



LIFT CORPORATION   Pág. 12 de 12 DSG# M-21-06   Rev. -   Fecha: 06/25/21

© MAXON Lift Corp. 2021

INSTALAR LOS SELLOS
FIG. 12-1

12.  Aplique el sello poliuretano (art. de kit) a la base, en 
las esquinas interiores en los rieles de montaje latera-
les y las esquinas interiores de los rieles superiores, 
para toda la longitud de cada riel (FIGS. 12-1, 12-1A y 
12-1B). Luego, inserte un sello de caucho a través de 
toda la longitud de cada riel de montaje (FIGS. 12-1 y 
12-1C). 
SELLO

RIEL DE 
MONTAJE

FIG. 12-1B

13. Vuelva a conectar el cable negativo (-) de la 
batería a la batería.

14.  Eleve y doble la plataforma a la posición de 
guardado y verifi que que los sellos para la 
puerta posterior se ajusten correctamente.

FIG. 12-1A

APLICAR SELLO
(DENTRO DE LA 
ESQUINA EN LA 

BASE, 2 LUGARES)RIEL DE 
MONTAJE

FIG. 12-1C

APLICAR SELLO
(DENTRO DE LA 
ESQUINA DEL 

LADO, 2 LADOS)

RIEL DE 
MONTAJE


